Q.1
()

(i)

(iii)

(iv)

v)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

Review Exercise 6

Choose the correct answer.
H.C.F of p’qg— pg’and p'q” — pq’ is
@) pg(p” —q°)

©r'¢(p-9

H.C.F of 5x°y* and 20x’y’ is
(a) 5x°y”

(c) 100x°y°

H.C.Fof x—2and x*+x—6

(a) x> +x-6

(¢) x—-2

H.C.Fof &’ +b> and ¢ —ab+ b’
(a) a+b

(¢) (a—b)

(b) pg(p-9)
d) pg(p’—q’)

(b) 20x°y°
(d) 5xy

(b) x+3
(d) x+2

(b) & —ab +5°
(d) o’ +5°

H.C.Fof x* -5x+6and x’ —x—6 is

(a) x-3

(¢) x> — 4

H.CFof a°—b’and a’ -0’ is
(a) a-b

(¢) a° +ab+ b’

(b) x+2
(d) x-2

(b) a+b
(d) a* —ab+5°

H.C.Fof X’ +3x+2,x"+4x+3 and x* +5x+4 is

(a) x+1

(¢) x+3

L.C.M of 15x”,45xyand 30xyz is
(a) 90xyz

(¢) 15xyz

LCMof a°+5° and a" —b" is
(a) a” +5°

(¢)a'-b"

(b) (x+1)(x+2)
(d) (x+4)(x+1)

(b) 90x°yz
(d) 15x°yz

(b) a* -b*
(d) a-»b

The product of two algebraic expression is equal to the

L.CM
(a) Sum
(¢) Product

1s

a 1
Simplift +
tmphy 9a* —b* 3a—b

(b) Difference
(d) Quotitent

of their H.C.F and



(xii)

(xiii)

(xiv)

(xv)

(xvi)

(xvii)

@) 4a (b) 4a—-b
q) ——
9" — b 9° — b’
© da+b @ b
¢) —
9a* — b’ 9a* —b*
a +5a-14 a+3
Simplif X =
Py a-3a—18 a-2
(a) a+7 (b) a+7
a i
a—o6 a—2
©) a+3 (d) a—2
c -z~
a—>6 a+3
N a-b a+ab+b’
Simplify the T = pEE =
(a) 1 (b) 1
a) — -
a-+b a—>b
© a—b @ a+b
c
a’+b* a’ +b’
2
Simplify( ”y—lj{l— al j
X+y X+y
X
(a) (b) =
X+y X+y
(© 2 (d) =
X Y
The square root of ¢° — 2g +11s
(a) (a+1) (b) +(a—1)
(c) a—1 (d) a+1
What should be added to complete the square of x* + 64 ?
(a) 8x’ (b) —8x°
(¢) 16x° (d) 4x°
1
The square root to X' +—+2 is
X
1 .1
(a) J_r[x+—j (b) i[x +—2]
X X
1 5> 1
(c) J_r(x——] (d) J_r(x ——2j
X X
1 LS E
2 EH 6 K
KN ¢ AN a
"3 b R b




Y.L

Q.3

rind the H.C.F of the following by factorization.

8x' —128,12x° —96

Solution:

8x* —128

12x° —96

=8(x*~16) =8| (x)'~(4)")

:2><2><2(x +4)(
:2><2><2(x +4)

=1

=1

X —4)
x+2

2(x’ - 8)

=(12(x' - 2°)

2(x—2)(x" +2x+4)

2x2x3(x—-2)(x* +2x+4)

H.C.F = 2x 2(x—2)

=4(x—2)

Find the H.C.F of the following by division method y° +3y° -3y —-9,3)" -8y —2y.

Solution: )’ +3y* -3y -9,

=y’ +3y" -3y -

9

|

y3+3y2—8y—24))/+%—3y—9

H.C.F = (y+3)

<y £ 37 +8y+24

5y+15
S5(y+3)
¥ -8
y+3)))3/+}/f—8y—24
+ 3+ 34
8f oA
+ 84 + 24



Q.4

Q.5

Find the L.C.M of the following by factorization.
12x* =75, 6x* —13x -5, 4x* —=20x + 25
Solution:

12x* —75

3(4x2 —25)

3[(235)2 _(5)2]
=3(2x-5)(2x+5)

6x° —15x+2x—5 =3x(2x-5)+1(2x-5)

=(2x-5)(3x+1)

47 =20x+25 =4x> —10x—-10x+25
=2x(2x-5)-5(2x-5)
=(2x-5)(2x-5)

Common factor = (2x-5)

Non common factor = 3(3x + 1)(2x - 5) 2x+5)

L.C.M = common factorx non common factor

L.CM= (2x=5)3(3x+1)(2x+5)(2x-5)

LCM=3(2x+5)(2x-5) (3x+1)

If H.C.F of x"+3x> +5x* +26x+56and x +2x" —4x* —x+28 isx’ +5x+ 7 find their
L.C.M.

Solution: p(x) = x* +3x" +5x* +26x+ 56 and q(x) =x"42x° —4x? —x+28
HCF =x*+5x+7, LCM=?
Ly LX)
HCF
x4 32 4+ 57 263 +56) x (x* + 207 = 4x” — x +28)

L.C.M:(
(x2 + 5x+7)

x*—3x+4
x2+5x+7)/+2x3—4x2—x+28

+x’ 5 7y
345 11 —x+ 28
T3 T15x° T 21x
+ 457 + 20% + 28
+ 457 + 20% + 28

0




Q.6

(i)

(i)

x’=3x+4

¥ 3% +5x7 +26x+56) (x1 +2x2 —Y+28
LCM =
. = - )

LCM =(x"+3x" +5x" +26x+ 56)(x" —=3x+4)

Simplify:
Solution:
3 B 3
i ax+l X —xt+x-1
Soluti 3 .
olution: —
XAt rx+l X —xt+x-1
B 3 N 3
xz(x+1)+1(x+1) xz(x—1)+1(x—1)
3 3

:(x2+1)(x+])_(x—1)(x2+1)

_ 3(x-1)=3(x+1)
(x+1)(x—1)(x2+1)

_ 3£ -3- 3% -3
(x—l)(x—l)(xZJrl)

6 6
_(x+1)(x—1)(x2+1)_(xz—l)(szrl)
=6
(6 -)

6

N 1—x*

a+b = a —ab

a —b a —2ab+ b’
Solution: ath_ a—ab

@b @ —2ab+ b
_a+b ><a!2—2ab+b2
a —b’ a’ —ab
o (ab)
(a-b)(wb) ala—b)




Q.7

Q.8

Find the square root by using factorization. (xz + sz +10[x+

X

Solution: (x° + %+10(x+ lj +27
X X

:(x2+%+10[x+1]+25+2
X X

:x2+i2+2+10(x+lj+25
X X

:(x+%]2 +2[x+%j><5+(5)2

2
:[x+l+5}
X

Taking the square root

[ oL
~[x+ L)

2

: C 4x° 20
Find the square roots by using division method. x2 L2 A3
Y 34
Solution:
x5 3y
y X
2
2x> 47 20k 0 0w 9y
h% /f 4 x x
4x
+
2
2
4_x+ 5) 20 +13—&+ 9);
y y X X
20
+ +25

X

1]+27

30
30y
X

(x;tO).

9y2
X




e —33’)14/}%+ 7[93/2
y X X X
30 9
X X

2" 3
Square root—+| =% ;52
y X




Unit 6: Algebraic Manipulation

Overvie

Highest Common Factor:

If two or more algebraic expressions are given then their common factor of highest
power is called the H.C F. of the expression.

Least Common Multiple(L.C.M):

The Least common Multiple (L.C. M) is the product of common factors together with
non-common factors of the given expressions.




